iadel 1 X))

YMHOXUTH Ha JIECATH (IIPOITYIIIEHHOE YUCIIO)

Uvmsa:

10, 417 x =1041.7
10, 852 x =1085.2
3,931 x =393.1

5, 847 x = 584.7
6,573 x = 657.3
9,714 x =971.4
2,754 % =27.54
4,6 x = 4600

2,84 x = 284
5,919 x =59.19

2,301 %

Jara: Orenka:

= 2301

2,599 x

=25.99

1,607 x

=160.7

4,579 x

=45.79

1,755 %

=175.5

1,514 x

= 1514

8, 985 x

= 8985

10, 804 x

= 10804

3,072 x

=307.2

10, 118 x

=1011.8
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iedel 1 K

YMHOXHUTB Ha JIECATH (MIPOMYIIIEHHOE YHCIIO)

Nwms:

10,417 x 100 = 1041.7

10, 852 x 100 = 1085.2

3,931 x 100 = 393.1

5,847 x 100 = 584.7

6,573 x 100 = 657.3

9,714 x 100 =971.4

2,754 x 10 =27.54

4,6 x 1000 = 4600

2,84 x 100 = 284

5,919 x 10 = 59.19

[ara:

2,301 x 1000 = 2301

2,599 x 10 =25.99

1,607 x 100 = 160.7

4,579 x 10 =45.79

1,755 %100 = 175.5

1,514 x 100 = 1514

8,985 x 1000 = 8985

10, 804 x 1000 = 10804

3,072 x 100 = 307.2

10,118 x 100 = 1011.8
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Oruenka:



https://www.snowmath.com

